
›³ł‚=³ł‚=Ï˛ğœ›³ł‚=³ł‚=Ï˛ğœ›³ł‚=³ł‚=Ï˛ğœ›³ł‚=³ł‚=Ï˛ğœ====
²¼²Ìþœ=¼ş„Ć˝=
=
²È∑i=›Ćşœ¼=˝Ğğ⁄=×„∞ĆœŽœ¼ć=²∞Èİœ=Š„Şćœá≈⁄=¾œ¼ğœ₣I=˚Ðœ=Ï˝œ²=¼Áœ³œ¼ćĆı=²Şć⁄=›¼ÈŞć¼ć=³¼ć=¼È¼ć¼ć=³È˝Ð=₣œ¼ćÈğĆı=
Ćğ⁄=ş¼œĆı=Ïþœ=₣œÈ¼ć⁄=²œĆÈğ=ş„È¼İœ=›¼¼œ›Ćþœ¼ćœ=₣œÈ˝Â›Ð=Ô=˝È¼ć=›˝=˝È¼ć’=›²ŁÂœÊ=³È˝Ð=₣œÈ¼ć⁄=ş¼œĆı=Ïþœ=Ûœ¼ć=Šœ˝„È¼ć
²Şć⁄=₣œÈŞć¼ć=˝œÈš=Ûœ¼ć=Ðœ˝œ=Šœ˚Şćœ=ŞœŞć=²œ⁄=¼Ü=Ï˛/œÐœ=Ï×Şć⁄=¼ÈğI=˘˝³Şćşœ=ÛœÈŞć¼ć=₣„È¼ćœ×=Ï²ĆıI=Ï˝¼ğ˛¼ćŠ⁄=Ûœ›₣==
Ï¼˝œ¼ć⁄=›˝š„›×²=Šœ˝›¼ć¼ć=Ž²Á=Ýı³¼ć=Ýı³¼ć=ÏŠ«§œ=˝¼ćğœ₣⁄=›˝Å=²œ=Ï³ÈŞć=›¼ÈŞć=˝¼ć¼=¾œ¼ğœ₣⁄=₣œ=³œpÏ×È˛Èš⁄=³œp=
ş„π‘›þ›•þ⁄=ş„³„=Ğ⁄=›²Žƒ¬=›wþğ=¼œ›ÜI=›¾K=›şK=Ûœ¼ćKKI=›Ýİ‚=ÛÁœÈhÐ²œ=ÛœÈš⁄=Ï½œ²I=›½¦ŽI=ˇÁœş=ÏþœÛœÈšĆıI=₣œ=›þ==
›˝²È¼⁄=›˝š„=Ðœ˝œ=₣œ=Ï×È¼=Ï¼œ¹ĆŞć⁄=
=
²È∑i=Ûœ₣œ¼ć=Ïπ‘›₣˝⁄=₣œş=›þÈ²˝=ž„Èğ›šğœ₣⁄=ÏŞ₣²=ĆıÈğ˝›Ð»˝=þœÈ¼ć=₣¼ćœ=˝œ˝=ž„Èğ=−œÈ˝=ÏşĆı¼ć˝₣⁄=Û²Á=Ï˝œ−œ˚=Şœ
¼œ¼ć=›šğ=²œ=þœĆı⁄=²œĆÈğ=Ï˝=¼ÁœÐœ=²È∑i¼ć=Ž²Á=ş₣Şć=²«§=˝È¼ć’=²È∑i=Ï×˛Èþ=˛œ¼ćœ³⁄=Ï˝œ²=ÛÁœÈLğ=Ï−È˝ĆıÏ×˛Èþ==
¾œÈğœ=ğœÈˇ=²œ⁄=þ¼„=²È∑i¼ć=›³šÈ²=³ÈÜ›šğœ₣=˝œ¼ćÞ=²È∑i=¼Èğ›šğ=˚=İÌŁ¦Ćı=π‘Š„¼ć=ş√³›j=³œÈ¼=J=Ûœ¼ć=þœ¼ć³¼ćĆı==
¼Á¼şœ=è�=˝¼ćÈ¼⁄=þ˛²Ćı=˚=¼ÜÈğœ˝=ĆÈŞć=ŞœÈ¼⁄=˚¼ć̊ =½îÁœÐ=ĆÈ¼I=₣œ=›þI=›¾K›şK›³KI=›Ýİ‚=ÛÁœÈhÐ²œ=ĆÈ¼I=˝œğœ¼ć=›ÐK›¾
KI=›½¦ŽI=ˇÁœş=Ïþœ=ĆÈ¼Ćı⁄=˚=Ûœ₣œŞć=π‘Š„¼ć=Ðœ˝œ˚=Ï×È¼⁄=Ûœ›₣=₣œÈ˝Â›ÐÔ=˝¼ć¼⁄=›˝Å=›þ²=₣œÈş=›˝š„Ćı=Ćğ=²œ⁄=¼¼ćÔ=˚Ćı=
₣œÈž=₣œÈž=Ûœ₣œ¼ć=Ï−È˝=¹œ¼ć=˝È¼ć⁄=Û¼İÁĆı=Ïİœ¹=Ï×Şć⁄=›˝Å=Şþ=Ï²Şć=þœ¼ć=˝₣=Ï×Şć⁄=
Ûœ›₣=²È∑iÈ˝=¼ğğœ₣I=Ûœ›₣=×İĆı=₣œŠÂ=›¼ÈŞć=˝¼ć›š⁄=þÈ¼=Ïþœ₣œÈ˝=²Şć⁄=
èÈ²=˚¼ć=π‘›þ›p=Şćœ=Ćğ=²œ⁄=è¹„=˘˝Ðœ=›ƒø³=¹›¼ćÈŞć=›×ğ⁄=Ï×˛ğœ₣I=Ûœ₣œÈ×¼ć=ÏŁœ¼ćœ¼ć=˛¼ćŠ⁄=˝þ=ĆÈŞćÈš=þœ¼ć=›Ćşœ¼⁄=
×„∞ĆœŽœ¼ć=²∞İ=Š„Şćœá≈⁄=Ûœ›₣=¼ğğœ₣I=Ï₣œÈÐĆı=Ûœ₣œ¼ć=Ž²Á=˘þ=˛¼ćŠ=ĆŞć=›²⁄=þ„›₣=×„∞²√¬›¼ć=˝¼ćÈšœ⁄=
²œI=Ïþœ₣œ¼ć=Ï³šÈ²=˘þÐœ˝œ=˛¼ćŠ=ĆÈŞćÈš⁄=
˝¨ÈÞœ=²œ⁄=Ïþœ₣œÈ˝=˝þ=›×ÈŞć›š⁄=ş¼Ćı=›˝=Ï½¼ćÊ=›×ÈŞćÈšœ’=
›˝Å=²È∑i=Ûœ₣œ¼ć=şÈL=þ˝Â=˝¼ćÈþĆı=ğœˇğ⁄=Ûœ›₣=›¼ÈŞć=˝¼ć¼I=þœĆı=²È∑iÈ˝=¨₣œ=˝È¼ć=›×Èþ=ĆıÈ_š=˝¼ćğ⁄=¼ğğœ₣I=
›ð˝=ÛœÈš=Ïþœ₣œ¼ć=Ðœ˝œ=˘˝=¼š¼ć=¼œÈ×=Ï×¼⁄=
ş„×=ğœˇÈ¼⁄=
˝þ’=
˘˝=ĆœŽœ¼ć⁄=
˝ÈþœÕ=
₣œp=˘˝=ĆœŽœ¼ć⁄=
¾œ›ˇÁş=²È∑iÈ˝=›¼ÈŞć=˝›¼ć›²⁄=Ž/œĆœ¼œŽ=ÏšÈğ⁄=ĆðœÊ=₣È²=Ćğ=²È∑i=Ûœ₣œÈ˝=˘˝Ðœ˚=›şÈ²₣œ=Ï×˛œŞć›²⁄=˘˝Ðœ=²œÐ˝˚=
²Şć⁄=Ï˝¼ğ=Ć/œ›ÐÈŞćÈš⁄=¹₣Âþğœ=Ï−È˝=›İŞćœğ×œ⁄=›İŞćœğ×œ=Ï−È˝=ÝıÈlbœÝœłœ⁄=ÝıÈlbœÝœłœ=Ï−È˝=ğœ¼²Ì⁄=ğœ¼²Ì==
Ï−È˝=˝ş¼œ⁄=Ûœ₣œ¼ć=³œ=¼Á−œ=˝¼ćþ=þ¼„=ÏĆÈÐ›š⁄=þœĆı=Ûœ¼œ¼ć=²È∑i¼ć=˝œÈšĆı=Ïˇğœ₣⁄=Ş›×=›˝š„=˝₣=şÈ₣=ĆŞć⁄=
ş¼Ðœ=Ş›×=²È∑iÈ˝Ćı=Ï×¼=Ûœ₣œ¼ć=›˝=−œ˝È¼=³È˝Ð=Ï₣È¼ć’=›˝Å=˚=¼ğğ=
ĆÈŞćÈš=¼ğ›š=Ïþœ⁄=›ð˝=›Ćşœ¼Ćı=˝È¼ć›š=
›˝Å=Ûœ₣œ¼ć=˛¼ćŠCÈğœ’=
ÏşCÈğœ=¼œ×=›×ÈŞćĆı=Ïþœ=×„∞ĆœŽœ¼ć=²∞Èİœ=ŠœŞćœá≈⁄=
þ„›₣=Ïþœ=Ûœ₣œ¼ć=›¼ÈŞćÈþ=Ï²₣∑iá≈=˛œÈ¼⁄=Š„Şćœá≈Ðœ=¼œ×=×œ˚⁄=Ïþœ₣œÈ˝=Ïπ‘ÈŽÈhÐİ²=›×Èþ=ĆÈ¼=²œ⁄=
ÛœÈ¼ć=¼œ×=›×ÈŞćĆı=ÏþœÕ=²œĆÈğ=›þ²=ĆœŽœ¼ć=ĆÈŞć=Şœ›_šğ⁄=



Ûœ₣œ¼ć=›¼ÈŞć=Ćğ⁄=›¼ÈŞćÈþ=ÛÈ²È˝=ÏŞÍþ„˝=›×ğ⁄=ÛÈ²È˝=›×ğ=›ˇ½‚Ð=ÏŠ˝‚⁄=Ûœ₣œ¼ć=ĆœÈþ=ÏŞCÈğœ=›šğ=˝œÝıÈ˝=›×ğœ₣=
²œ⁄=¼È¼ć¼ć=CÈğœ˚=Ï²¼œ¼ć=ĆıÈ_š=›šğ⁄=Ï×˛ğœ₣I=˚=›²ÈŽ¼ć=³œ˚Şćœ=Ðœ˝œI=ÏŠ ‚̋=ş¼=ğ˝œÈ¼ć=þ„Èğ=¼ćœ˛ğ⁄=
›¼ÈŞć¼ć=³¼ć̊ =Ðœ˝œ=›²Èþ=³œ›¼ć=²œ⁄=¼¼ć=Ûœğ₣œ›¼ć¼ć=Šœ›¼=›²ÈŞć=Û›½Èş=ŞœŞć⁄=Ïş=˛„¼=ˇóÌ¼ć⁄=þœĆı=Šœ›¼=ŠœĆıÈþ=³œ›¼ć=²œ⁄=
˚›×È˝=²È∑i=¼ÁœÐœ=Ï½œÈ²=Ï¼ćœŽ=þœˇœ×œ=›×È_š⁄=Ûœ›₣=ÏŠ˝‚CÈğœ=›×Èþ=ŠœĆığœ₣⁄=˚CÈğœ=ş¼=›₣›ğÈŞć=ÛœÐİ=Ðœ˝œ¼ć=
₣þ=ĆÈ¼⁄=›˝Å=²È∑i=ş¼=Ðœ˝œĆı=˘˝şÈL=Ï²È¼⁄=Ï½œ²=ÛœşÈğĆı=¼„›ž=²È∑i⁄=İœèÜÌ=ğ¨Á=˝È¼ć⁄=₣„È˛=›˝š„=¼Èğ=²œI=
›˝Å=ÛœÜÈŠœÈ˛=þœ˝œŞć⁄=Ûœ₣œ¼ć=₣„˛Ðœ=½Áœ˝œÈİ=ĆÈŞć=ŞœŞć⁄=₣È²=ĆŞć=şÈàĆ˚=˝È¼ć⁄=˘˝›×²=…œèÜÌ=ÏšÈğÈ˝=¼ğğI=
Ï¼Í₣œÈ˝=˘þ=Ï½œ²=˝›¼ćş=Ï˝²’=
˝Ćı=Ûœ›₣=Ïþœ=Ï½œ²=˝›¼ć=²œÕ=
¼¼ć=¼ğğI=Ï˝Ýı=›˝=Ïþœ₣œÈ˝=Ï½œ²=˝È¼ć’=₣œ₣›²=¼ğ›šğ⁄=
²È∑iI=Ûœ₣œ¼ć=¼Ö„⁄=
˚=›˝š„=¼ğğ=²œ⁄=›˝Å=₣„˛Ðœ=ˇóÌ¼ć=ĆÈŞć=Ïˇğ⁄=›¼ÈŞć¼ć=π‘œŞć=×„∞₣œş=Ï˝ÈÐ=ÏˇÈš⁄=²È∑i=˘˛²=π‘œŞćĆı=r₣›˝=Ï×Şć⁄=¼¼ćÈ˝=
ş¼=Žœ›²ÈŞć=Ï×È¼⁄=Ûœ›₣=¼ğğœ₣I=Ûœ¼ć=˝∞Ðœ=₣œş=ÛÈ³¨œ=˝¼ć⁄=
˘¼ć=›˝š„›×²=³¼ć=Ûœ₣¼ćœ=Ïˇğœ₣=˝œ›şÂŞćœÔ⁄=₣œ₣›²=Ûœ₣œŞć=³/œŠÈİœ=Ðœ˝œ=Ćœþ˛¼ćŠ=›×ğ⁄=Ûœ›₣=Ï˝œ²=₣œÈ˝Â›ÐÔ=˝¼ćğ=
œ₣=²œ⁄=²È∑iÈ˝=ÏþÈ¼ćœÈİœ=›×Èþ=ŠœĆığœ₣⁄=²È∑i=¼ğğ=ş¼Ðœ=›×Èþ=ĆÈ¼⁄=�èÜÌ=ş¼=ğ¨=˝È¼ćI=›˝Å=²Ì¼ć¼=−œÈ˝⁄=��èÜÌ=
ŽœÈ²I=Ûœ₣œ¼ć=˘˝=¼Ö„=ÛœÈš⁄=þœ¼ć=²œ₣=²È∑i⁄=
²È∑i=˝∞›×²=Ûœ¼ć=Ï½œ²=˝È¼ć=²œ⁄=Ûœ›₣=˚¼ć=Ï½œ²=Ï³ÈŞć=Ï³ÈŞć=Û¾Á∑ƒ=ĆÈŞć=Ïˇ›š⁄=Ûœ₣œ¼ć=¾Şć˚=˝È¼ć⁄=¼È¼ć¼ć=Û›½ş=ŞœŞć=
›²=Ïþœ’=ÛÈ²˝›×²=¼œÈ×=²È∑i¼ć=Ï½œ²I=şÈL=²¼ć₣=ˇğœ⁄=Ûœ₣œÈ˝=¼ğğI=
Ïþœ₣œ¼ć=˝þ=ĆŞć²œ=ÛœÈš=Ïˇœ’=
¾›¼ć=³/œÈŠ˝=≥ÛœÈš=×İI=˝›₣ÈŞć=³/œŠ=¼ğğœ₣µ=
Ûœ₣œŞć=›×ÈŞć=×œ˚⁄=¼Á¼şœ=˝¼ć¼⁄=þœĆÈğ=Ïþœ₣œŞć=Ï˝œ²›×²=›¼¼ćj=˝¼ć¼=²œ⁄=Û¼İÁ=ˇŞć²œ=›¼p=Ì=˝È¼ć=˝ÁœİÐœ=›×˚⁄=
˘¼ć³¼ć=˘˝›×²=Ûœ›₣=˘˝Ðœ=Ž„ÈŞćğœÈşÂ=Ïˇğœ₣⁄=›˝š„=ˇŞć²œ=›×ğœ₣⁄=˚¼ćœ=Ï×˛ğ⁄=Ûœ₣œÈ˝=˚=ˇŞć²œCÈğœÈ˝⁄=¼ğğI=
₣ÁœÝœ₣=Ûœ³²œ¼ć=²œ₣=Ûœ¼ć=›ð˝œ²œ’=¼ğğœ₣J=
J›˝=×¼ć˝œ¼ć’=
JÛœÈš=₣ÁœÝœ₣⁄=˘˝Ð„=¼ş„²I=Ûœş›š⁄=
Ûœ₣œ¼ć=¾ÌĞÞ=¾Şć=˝¼ć›šğ⁄=Ş›×=³„›ğİÈ˝=˛¼¼ć=Ï×ŞćI=›˝Ô¼œ=Ï˝ÍþÒĆğ=Ï₣ÐœÈþ=¼œ›ÜÈþĆı=Ï½œ²=˝È¼ć⁄=Ş›×=›ð˝œ²œ=
Ï×È˛=ÝœĆıÈ¼ć̋ ‚Ð›¼ć=Ï˛/œÈŽ’=İœè›Ü=ÏŽÈ²=ŞœÈ¼⁄=Ûœ¼ć=İœè›Ü=Žœ²ÈğĆı=¼¼ć=Žœ²È¼⁄=
›˝š„=³È¼ć=˘˝Ž²=˘ğ⁄=¼ğğ=J=Ć/ÁœI=²œ₣Ðœ=¼ğ„²⁄=
Ûœ›₣=ÝıÈlbœ³œlbœ=²œ₣=›ð˝œ²œ=¼ğğœ₣⁄=¼ğğœ₣I=Ûœ›₣=›¼�Ì=˝¼ć¼=²œ⁄=
˚¼ćœ=›˝š„=¼ğœ¼ć=ÛœÈˇĆı=Ï¼›¼ćÈŞć=˘ğœ₣⁄=˘ÈşĆı=ÏşœŽœ=˘˝Ðœ=ÐÁœ˝›şÈþ⁄=Ş›×=Ï³šÈ²=þœÜœ=˝È¼ć⁄=˘›×È˝=ÐÁœ˝›ş=¾œÜœ=
CÞÈþ=›ˇÈŞć=Ûœ₣œ¼ć=ÏþÈ¼ćœÈİœ=Ï−È˝=³Zœİ=Ðœ˝œ=˝È₣=Ïˇğ⁄=
²È∑i=˘˛²=Ðœ˝œ=Šœ˚Şćœ=¼Ö=˝È¼ćÈš⁄=›˝Å=ˇŞć²œ=ŠœĆıÈš⁄=₣œÈž=₣œÈžĆı=Žœ²œŞćI=˚=Ûœ₣œŞć=¾œÈğœ¼œÈş⁄=Ûœ›₣=Û¼İÁ=
˚¼ć=˝−œŞć=›¼��ş=˝›¼ć=²œ⁄=˚=ÏşĆı=ş√³›j˚=Ï³ÈŞćÈš⁄=¼Á¼şœ=è=˝È¼ćÈš⁄=¼Á¼şœ=¼Ü=˝¼ćÈ¼⁄=Ûœ¼ć˚=Ðœ˝œ=×¼ć˝œ¼ć⁄=
ÏşŽÈ²ÁĆı=ˇŞć²œCÈğœ=˚=ŠœĆıÈš⁄=˘˛²=₣œÈž=₣œÈž=Ûœ₣œ¼ć=˛„¼=Ûœ½Èİœş=ĆŞć⁄=²È∑i=Ï˝=›¼ÈŞć=˝¼ćÈğĆı=ÏĆœþ⁄=×„∞ĆœŽœ¼ć=
²∞İ=Š„Şćœá≈=Ðœ˝œ¼ć=Ï¼œžœ=¼ĆıÈþ=Ćþ=²œ⁄=þœšœÜœ=˚=›²õŞćĆı=Ûœ₣œŞć=Ðœ˝œ=›×þ⁄=Ûœ›₣=₣œÈ˝Â›ÐÔ=˝¼ćþœ₣⁄=²È∑i=›²õŞćĆı==
Ûœğ₣œ›¼ć¼ć=Šœ›¼=›²ÈŞć=ÏŞþ=²œ⁄=
²È∑i=ĆðœÊ=˘˝›×²=¼œ›Ü=˘ğ⁄=Ûœ›₣=¼ğğœ₣I=˘˛œÈ²=Ï˝²’=
Ûœ¼ć=˝þ›×²=Ï¹/œ˝œ=Ï×È¼’=Ðœ˝œÐœ=˘¼œ¼ć=Ûœ×œŞć=˝¼ćÈþ=˘Èş›š⁄=



¼¼ć=b›ŞćÔ=È₣⁄=ÛœŽÈ˝¼ć=˝œˇÈŽ=₣¿Ω⁄=²È∑i=þœ¼ć=˝œÈš=Ïˇğ⁄=Ûœ›₣=³›¼ćŠŞć=˝›¼ćÈŞć=›×ğœ₣⁄=¼¼ć=¼ğğ=J=¼ş„²⁄=Ûœ›₣=
ŁÈ¼ć=ŠÈğ=˘ğœ₣⁄=Ûœ₣œ¼ć=Ćœþ=³œ=˝/œ³›šğ⁄=Łœ₣=Ć›_šğ⁄=³×Âœ¼ć=ÛœÜœğ=Ï−È˝=˚È×¼ć=Ï×˛Èþ=ğœˇğœ₣⁄=˚¼ćœ=›˝=¼ğÈš==
è²Èþ=³œ›_šğœ₣=²œ⁄=þÈ¼=˘Ð„̋ „=¼„žğœ₣=ÏŞI=²È∑i=ÛÈ²˝=›˝š„Ćı=¼ğÈš=˚È˝⁄=¼È¼ć¼ć=₣„̨ =Ï×È˛=₣È²=Ć›_šğ=²œ˚=Ï¼ćÈˇ==
ŞœÈ_š⁄=¼¼ćÔ=Ï×˛œ=ŞœÈ_š=₣Ú×„=Ćœ›ş¼ć=Ï¼ć˛œ⁄=ĆœJĆœ=˝È¼ć=˘˝ş₣Şć=ÏĆÈş=Ýıðğ⁄=Ï×˛ğœ₣I=₣œ₣›²=²ÌÈŠ=¼ćœá≈œŁ¼ćÏ−È˝=Ï¼È¼ćœ
ğ⁄=Ï¼œ¹ĆŞć=ÏšÈğ¼ć=Ćœ›ş=èÈ²⁄=²È∑iÈ˝=Ï×È˛=ŠÈğ=˘Èğœ⁄=˘˝¼œ¼ć=Ýı³È¼ć=þœ˝œÈþĆı=ÏŠœ˛œÈŠœ›˛=ĆÈŞćÏˇğ=Ûœ₣œ¼ć=şÈL⁄=
Ûœ›₣=›˝š„Ćı=¼„žÈþ=³œ¼ć›šğœ₣=²œ⁄=²È∑i=›˝=˘₣²=¼ğÈš⁄=¼¼ćÈ˝=ĆœşÈþ=Ï×˛ğœ₣⁄=›ş/›Ü¼ć=˝ÈŞć˝=¹œ³=Ï²È₣=˘ğœ₣⁄=
²È∑i=¼ğÈšI=Ûœ³›²=ÏŞ=˘þ›×²=¼Á¼Ćœ¼ć=˝¼ćÈğ²I=þœ¼ć=ŽÈ²Á=×œ₣=˝₣=ĆÈ¼=²œ⁄=Ûœ›₣=˘þ=×œ₣=›×Èþ=³œ¼ć¼=²œ⁄=
¼¼ć=›²›¼Â̋ œ¼ć⁄=ˇœÈš¼ć=½/œ˝=›×ÈŞć=³Üœ=Ï¼ćœs„È¼ć¼ć=₣þ=Ï˝Íþ„˝=ˇóÌ¼ć=₣„È˛⁄=›½È˝=ĆÈŞć=ÛœşÈš=ˇœóÌŞÂ⁄=Ûœ₣œ¼ć=Ćœ›şÏýÝı=
ÝıðÈ¼=Ï¼œ¹ĆŞć=
Ûœ₣œ¼ć=ş¼›˝š„Ćı=Ï˝₣²=ÏˇœğÈ₣Èğ=Ïð˝›šğ⁄=²È∑i=Ïþœ=˘þ›×²=Ðœ˝œ=ŠœĆı›šğJ=Ûœ₣œ¼ć=ŽÈ²Á=˛¼ćŠ=˝È¼ćÈš=¼Èğ⁄=
þÈ¼=˘¼œ¼ć=˚È˝=Ðœ˝œ=›×Èþ=ĆÈ¼=Ï˝²’=¼¼ć=›˝=›¼pÌ=˝¼ćÈš’=›˝=¼Á¼Ćœ¼ć=˝È¼ćÈš’=˘ş¼=›²ÈŞć=›˝š„Ćı=¾œ¼Èþ=³œ¼ć›šğœ₣=
²œ⁄=ÝıÈjŽ²œŞć=İ¼ćÌ¼ć=Ï˝₣²=˝¼ć›šğ⁄=₣œ₣›²È˝=Ýœ˝Èþ=ŠœĆı›šğœ₣⁄=›˝Å=Ûœ₣œ¼ć=ˇğœ=›×ÈŞć=Ï˝œ²=ƒ¬¼ćĆı=Ï¼È¼ćœ›_šğ=²œ⁄=
Ćœþ=³œ=ÏŞ²=›ƒ∏¼ć=ĆÈŞć=Ûœş›šğ=����। 


